
number × 10 etc (14) number × 10 etc (14) number × 10 etc (14) number × 10 etc (14) n×10 (14)

Write down the value of

(a) 392.9× 100

(b) 1000× 85.2

(c) 3.6× 100

(d) 100× 74.3

(e) 321.5× 1000

(f) 1000× 80.73

(g) 5.43× 1000

(h) 100× 1.4

(i) 7.95× 1000

(j) 100× 6.2

Write down the value of

(a) 392.9× 100

(b) 1000× 85.2

(c) 3.6× 100

(d) 100× 74.3

(e) 321.5× 1000

(f) 1000× 80.73

(g) 5.43× 1000

(h) 100× 1.4

(i) 7.95× 1000

(j) 100× 6.2

Write down the value of

(a) 392.9× 100

(b) 1000× 85.2

(c) 3.6× 100

(d) 100× 74.3

(e) 321.5× 1000

(f) 1000× 80.73

(g) 5.43× 1000

(h) 100× 1.4

(i) 7.95× 1000

(j) 100× 6.2

Write down the value of

(a) 392.9× 100

(b) 1000× 85.2

(c) 3.6× 100

(d) 100× 74.3

(e) 321.5× 1000

(f) 1000× 80.73

(g) 5.43× 1000

(h) 100× 1.4

(i) 7.95× 1000

(j) 100× 6.2

Answers

(a) 39 290

(b) 85 200

(c) 3 600

(d) 7 430

(e) 321 500

(f) 80 730

(g) 5 430

(h) 140

(i) 7 950

(j) 620
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